










 



 



 



 



 

 

Find the option which should replace (?) 

     

72 : 18 ::  56 : ? 

 

(A) 11 

(B) 22 

(C) 29 
(D) 32 

 

 

 

 

 



 



 

 

 

 

In a row X is 14th from right and 19th from left. Then what is total 

no? 

 एक पंक्ति में X दाएं से 14 वे और बाएं से 19व ेस्थान पर है। तो कुल संख्या क्या  होगी है?  

(1) 21         

(2) 32    

(3) 10        

(4) 24  

(5) None of these 
 

 

 

 

 

 

 

 

Question -3 



 

 

 

Rohan ranks seventh from the top and twenty-sixth from the 

bottom in a class. How many boys are there in the class ?  

 रोहन शीर्ष से सातवें स्थान पर हैं और नीच ेसे 26 वे स्थान पर हैं। कक्षा में ककतन ेलड़के 
हैं? 

(1) 31                        

(2) 32                   

(3) 33                       

(4) 34              

(5) None of these 
 

 

 

 

 

 

 

Question -10 



 

 

 

Manik is fourteenth from the right end in a row of 40 boys. What is 

his position from the left end?  

माक्तनक 40 लड़कों की एक पंक्ति में दाएं छोर से 14वें स्थान पर है। बाएं छोर से उसकी 
क्तस्थक्तत क्या है? 

(1) 24th             

(2) 25th              

(3) 26th              

(4) 27th            

(5) None of these 
 

 

 

 

 

 

 

Question -12 



 

 

 

In a row A is 12th from left and B is 16th from right and there are 5 

members between A & B then what is total no? 

एक पकं्ति में A बाईं ओर स े12 वें स्थान पर है और B दाय ेओर स े16 वें स्थान पर है और 

A और B के बीच 5 सदस्य हैं तो कुल संख्या क्या है? 

(1) 33           

(2) 21     

(3) 10                  

(4) Either 33 or 21    

(5) None of these 
 

 

 

 

 

 

 

Question -6 



 

 

 
In a row where all are facing north, Priya is 15th from the left end and Garima is 

19th from the right end. They interchange their positions, Priya's new position is 

50th from the left. How many persons are there in the row? 

एक पंक्ति में जह ं सभी उत्तर की ओर उनु्मख हैं, प्रिय  ब एं छोर से 15वें स्थ न पर है 
और गररम  द एं छोर से 19वें स्थ न पर है। वे अपन  स्थ न आपस में बदल लेते हैं, 
प्रिय  क  नय  स्थ न ब यें से 50व ं है। पंक्ति में प्रकतने व्यक्ति हैं?  
 

(1) 65th             

(2) 69th              

(3) 68th              

(4) 70th            

(5) None of these 
 

 

 

 

Question -12 



 

 

 

In a row of 35 students. Amit is 15th from right and Mohan is 12th from 

left. How many students are there between Mohan and Amit? 

 35 छात्रों की एक पंक्ति में। अक्तमत दाएं से 15 वें स्थान पर हैं और मोहन बाएं से 12 वें स्थान 
पर हैं। मोहन और अक्तमत के बीच ककतन ेछात्र हैं?  

(1) 21         

(2) 13    

(3) 10        

(4)  8 

(5) None of these 
 

 

 

 

 

 

 

 

Question -4 



 

 

 

In a row of 25 students. X is 19th from right and Y is 21st from left. How 

many students are there between X and Y? 

 25 छात्रों की एक पंक्ति में। X दाएं ओर से 19 वें स्थान पर है और Y बाएं ओर से 21 वें स्थान 
पर है। X और Y के बीच ककतन ेछात्र हैं?  

(1) 21             

(2) 13    

(3) 10             

(4) 6 

(5) None of these 
 

 

 

 

 

 

 

 

Question -5 



 

 

 

Three persons A, B and C are standing in a queue. There are five 

persons between A and B and eight persons between B and C. If there 

are three persons ahead of C and 21 behind A, then what could be the 

minimum number of persons in the queue ? 

पंक्ति में तीन व्यक्ति A, B और C खड़े हैं। A और B के बीच पांच व्यक्ति और B और C के बीच 
आठ व्यक्ति हैं। यकद 3 व्यक्ति C के आगे है और 21 पीछे हैं, तो पंक्ति में कुल न्यूनतम संख्या क्या 
होगी?  

(1) 27               

(2) 28       

(3) 40      

(4) 41            

(5) None of these 
 

 

 

 

Question -13 



 

 

 

In a class of 90 students, numbers of boys are twice the number of 

girls. Rani is 58th from the left end and there are 20 boys to the right 

of Rani, then find the number of girls to the left of Rani? (if Rani is girl) 

90 छात्रों की एक कक्षा में, लड़कों की संख्या, लड़ककयों की संख्या का दो गुना है। रानी बाएं 
छोर से 58 वें स्थान पर हैं और रानी के दाक्तहन ेओर 20 लड़के हैं, तो रानी के बाईं ओर 
लड़ककयों की संख्या क्या होगी? (अगर रानी लड़की है)  
 

(1) 15      

(2) 16 

(3) 17      

(4) 19 

(5) None of these   
 

 

 

 

Question -15 



 

 

 

X is 4th to the left of Y who is 17th from right end. What is rank of X 

from right end? 

X,Y के बाएं चौथा है जो दाएं छोर से17वा ंहै तो ज्ञात कीक्तजए X का दाएं छोर से स्थान क्या 
होगा? 

(1) 21st                 

(2) 25th   

(3) 19th                       

(4) 24th   

(5) None of these 
 

 

 

 

 

 

 

Question -1 


